SUBJECT : DATA INTERPRETATION

Time: 1 Hour] [ Full Marks: 72

(o) O
(b) O

(c) O

(d) O

(e) O

The given Pie Chart shows the percentage of employees in five different companies,
and the Line Chart shows the percentage of males more than females in these
companies. The total number of employees across these companies is 18,000.
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Find the ratio of the number of females in D to the number of males in C. (7)
The number of males in A and E is what percent more than the number of females in

Band D? (7)

If the number of males in D increased by 26% and the number of females increased
by 16%, then by how much percent the number of males in D is more than the number
of females? (8)

Find the difference between the number of males in B, C, and D and the number of

females in A, D, and E. (7)

If the income of each female is 14.28% less than that of a male and the annual package
of a male is 14.7 lacs per annum, then find the monthly income of each female. (7)
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1 AT Afgeelt i e  fohda ufasra eifes 32 (8)

B, C IR D ¥ J&ul sl & 9T A, D 3R £ H Afgctell &t T & & 3ick F1d &l (7)

Ife; Tk WiEeT 1 T ToW i oIl | 14.28% U 8 3R EW 1 aftich TeheT 14.7 A T
afa o 2, @ I Afeer # wfae ST i ? (7)

OR / AYar

The bar chart represents the investment (in thousand ) made by three people (Pankaj,
Riya, Amit) in purchasing four different cryptocurrencies.
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Investment in Different Cryptocurrencies (B&W Friendly)
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What is the average investment (in thousand) by Amit in all cryptocurrencies together ?

(7)
What is the ratio of investment by Pankaj in Dogecoin and Ethereum to that of Amit
in Ethereum and Bitcoin ? (7)

The amount invested by Riya in Ethereum is what percent of the total investment of
Pankaj? (7)
If the price of one Dogecoin is Rs. 150 and the price of one Ethereum coin is Rs. 250,

then what is the total number of these two coins bought by Pankaj? (8)

Find the total amount invested by all three people in all 4 cryptocurrencies together.

(7)
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The given Bar Chart represents the total number of bikes sold in five different showrooms
(A, B, C, D, E), and the Line Chart shows the percentage of 1st type and 2nd type of
bikes sold in those showrooms.

(Note: Total no of bikes is equal to sum of 1st Bike, 2nd Bike and 3rd Bike )
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The number of bikes of Type 3rd sold by showroom E is what % more or less than the
total number of bikes sold by showroom B? (7)
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(b) O What is the ratio of the number of bikes of type 3rd sold by showroom B and C together
and the number of bikes of type 2nd sold by showroom C? (7)

(c) O Find the average number of bikes of type 3rd sold by all showrooms together. (7)

(d) O What is the difference between the number of bikes sold of type 2nd by showroom C
and type 3rd sold by showroom A and E together ? (7)

(e) O The number of bikes of type 1st sold by B, C, and D together is what % more or less
than the number of bikes of type 3rd sold by A, B, and C together ? (8)
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(c) O @ Oired gRT =it € R TR ol STgehi o1 3TEd ST J1d Shifeie | (7)
(d) O  3%H C 3R S TE UL TohR i S1gehi ol T 3R WEH A 3R E gRT 9= T G TR b
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1 T H fere wfawrd eiferes o1 9 82 (8)
OR / 3TerEr
2. The given table provides the ratio of Pencil, Pen, and Notebook sold by a shopkeeper

on five different days and the total number of items sold on each day.

Table: Ratio of Pencil, Pen and Notebook Sold by a Shopkeeper

Days Pencil : Pen : Notebook | Total number of items sold
Monday 12:13:15 400

Tuesday 8:6:11 350

Wenesday 7:9:4 360

Thursday 6:5:4 270

Friday 10:12:13 420

(a) O What is the average number of pencils sold by the shopkeeper from Monday to Friday ?

(7)

(b) O The total number of pens sold on Monday is how much percent more or less than that
sold on Thursday ? (7)

(c) O If 37.5% of pens sold on Friday are Black and the remaining are Blue, then find the
number of Blue pens sold by the shopkeeper on Friday. (7)

(d) O If each Pencil is sold at Rs. 3.50, each Pen at Rs. 2.50, and each Notebook at Rs. 12
on Wednesday, then find the total revenue generated by the shopkeeper on that day.

(7)

(e) O If the number of Pens sold on Saturday is 30% more than on Thursday and the number
of Notebooks is 50% more than on Tuesday, then find the total number of Pens and
Notebooks sold on Saturday. (8)
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Table: Ratio of Pencil, Pen and Notebook Sold by a Shopkeeper

Days Pencil : Pen : Notebook | Total number of items sold

Monday 12:13:15 400

Tuesday 8:6:11 350

Wenesday 7:9:4 360

Thursday 6:5:4 270

Friday 10:12:13 420
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